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8.A 100 pF capacitor is charged to a potential difference of 50 V, and the charging
battery is disconnected. The capacitor is then connected in parallel with a second
(initially uncharged) capacitor. If the potential difference across the first
capacitor drops to 35 V, what is the capacitance of this second capacitor ? (20%)

9. Consider a coupled mass-spring system as shown below :

> Xo = X1 > x2
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(a)What is potential energy of the system? (b)Find an expression for the force acting
on m and mz . (10%)




